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1/40
AT —FhRiIA AT 55717 (shadow behavior)?

What is the best description of shadow behavior?

A) TREIEMTIFERFIHDNE LR

A junior observing a senior by doing job-shadowing and learning on-the-job
B) EESEREHIE, EIRARRZEIHIL BXL TSR

Creating a tribal system where team members are overshadowed by others
C) REFMMIVALULE, THERRHARIRTE

Implementing systems or solutions without explicit organizational approval
D) AFPEAMIARHZZRMEAITIRS

IT service provisioning being so good that consumers are unaware of IT

2/40
RN R B NMAR?

How does governance flow through an organization?

A) HFTBEZITGERE (governing body) , BHAEEAYMA/HIIASERPAIFRERED, AL
BNEFNST R E B EENIRR.

Via delegation from owners to a governing body, who authorizes organizational capabilities
to create and support the outcomes to consumers.

B) BLANSEMTFIL, EERZBHEGRIESRIANBEXRE B,

Via good planning in the higher levels of the organization, where it is critical that there is a
clearly stated mission and vision with key objectives defined.

C) BEFEEN—REMREHERRE, FEE/FTRABRED. BRMER, ARERTAHRRERL.
Via organization-wide gatherings once or twice a year, where owners/stakeholders present
the mission, vision and objectives, and take feedback from employees.

D) RATSH ERZEETENER, BN AR NIRSTIER,

Via performance contracts between an employee and his or her manager, making everybody
responsible for part of the strategy.

E{ S VeriSM™ Foundation (VERISMF.CH) 5
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3/40
AR SEERNIRER.

UTH—IETFEyz—?
New technology has led to changes within organizations.
Which is one of these changes?

A) HBREEMEESCEIRAIAIRSS ERALIFHIERS.

Services are driven by stable management practices which discourage technology innovation.
B) MRSBAILIASZMRLR, AT,

Services can be delivered from anywhere to anywhere.
C) HRRMRSIEERE—FEEEAITIREE L.

Services now undergo a more rigid functional change approach within organizations.

D) KEEREREESZRIRSEMESER.
Services that rely on traditional rigid management approaches are preferable to organizations.

4/40
R E KRN N RRRA— M NIRS ST A.

BRRIBRSS EIRRNE TR ek ?

Digital transformation requires a new approach to service management within
organizations.

Where is the ownership of service management principles situated in an organization?

A) RBFEERTWSWL,
Business owns service management.
B) RSEIRETITIE.
IT owns service management.
C) RESEEIIMIBE=TFHNE.,
Service management is outsourced to a third-party supplier.
D) IRSEEETENMNALN.
Service management is owned across the whole organization.

E{ S VeriSM™ Foundation (VERISMF.CH) 6
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5/40
AT —MRIAR TR A A R R R ?

How can organizational culture best be described?

A) EEETEARSERTERN—RIUIRMTE,
It is a collection of common practices based on the backgrounds of all employees within an
organization.

B) BRRT —MERRNEEEMAEENMIESM.

It is a reflection of the ethnicity of management and owners within an organization.
C) BR—MHEARAMSEEI IEXIIL,
It is a culture that is exclusively defined by the leadership of an organization.
D) BRALRMIMEM. EFE. nd. FiK. FIIFNIBENESUREEIER.
It is a collection of, and interaction between, the values, systems, symbols, assumptions,
beliefs and habits of an organization.

6/40
BEIRS XU RERRITREMTA?

What is the most important element of creating a service culture?

A) BFRTHMIREAINF
Empowering the employees to make decisions on their own
B) &EMRSI, LIFRESIARES
Measuring the service culture in order to identify improvement ideas
C) BEITIMARESEEERERBAENZEEN
Showing the consumer that they are valued by actions rather than telling them
D) 1F)IRTHEEERFAIRSITA

Training employees and managers in good service behavior

7/40
NSEHBIREENRMHA?

What is the key activity of a leader's role?

A) XKFER
Focus on results
B) XE&/IML
Minimize risk
C) 5
Motivate colleagues
D) iREMIHK

Set up priorities

E{ S VeriSM™ Foundation (VERISMF.CH) 7
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IBRRE TR NEERES: APRIE3L.

LA RIS BE R T +1328E17

Emotional intelligence defines two main competencies: personal and social.

Which two skills belong to the social competence?

A) NI BWAFHFRIRAZ

Joining social groups and actively communicating with them
B) THHRRINARSIIESIASS

Knowing social media and what people or situations can influence us
C) HEBRINXAEE

Social awareness and relationship management

D) #HRXAAEEIFERMLRIRIS
Social content management and using social techniques

9/40
AMAFRIFEIREE EXEREARNER?

=%IN

What is the name of the professional that should have both breadth and depth of

knowledge?

A) ABIER
A-shaped professional
B) 1BUE5
I-shaped professional
) RSEEER
Service management expert
D) TRIExR
T-shaped professional

10/ 40
B EERIREMERETA?

What is the last stage of team formation?

A) fRE/4R (Adjourning)
Adjourning

B) A% (Forming)
Forming

C) &% (Performing)
Performing

D) ZB# (Setting-up)
Setting-up

Zif & VeriSM™ Foundation (VERISMF.CH)
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11/ 40
B Z B AT BE S B SRR T A)RE,

EEEMIX—aEAENEMA?
There is a challenge that teams may operate in silos.
What is a recommendation that management should do to overcome this challenge?

A) EEBARRZEFR—X—=IY
Implement one-on-one meetings between team members
B) A& ERMEHEAEIRERD
Provide team-building activities for each team
C) RMERNHAZIBRRIZIRA
Reward teams who achieve their goals ahead of target
D) DEXTHLAKIIER

Share information on the organization’s strategies

12 /40
FXIHRIERER(E EIREUR T XITRER A S BBMHIAIR,

AMAIFZ PX —iBRAIR?

Successful expectation management depends on developing a clear vision of what is
expected.

How can this clarity be achieved?

A) TFHRBIFEMRISLA (ARSEBIIMN) SR HEER
Ensure that detailed SLA documentation is available
B) HREXIHRLIE BHTRRIALRIER
Report achievement against agreed targets
C) REFPRARMRITEEE
Set boundaries and provide a structure for delivery
D) EEIFEFIHETI

Under-promise and over-deliver

13740
UM —IEi @ E RN AN ERE—7?

What is one of the five components that should be considered in communication?

A) 1EEHH
Delivery mechanism
B) SE
Intention
C) RN
Perception
D) SEE
Scope

Zif & VeriSM™ Foundation (VERISMF.CH)
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14 / 40
KotterHIAZLHEIE (OCM) HREIPHBE—NEELRZEMTA?

What is the first important step in Kotter's Organizational Change Management (OCM)
model?

A) B HESHRA

Build a guiding coalition
B) FliEZRIER

Create a sense of urgency
C) BUSFEHARL

Generate short-term wins
D) B#FHAEHIEN

Institute change

15/ 40
\Z/lzerisMTM1‘%&25’\]ﬂﬂB—bﬁ%%H&ET%\%Eﬂ%ﬂiﬁﬁﬂﬁiﬁ, B ENE SRR QIR
k2

Which element of the VeriSM™ model defines the management activities or practices
necessary to meet the governance requirements by providing guardrails or boundaries?

A) TN (Define)
Define

B) =IEM#E (Management Mesh)
Management Mesh

C) 4&7* (Produce)

Produce

D) RRSSEIEREN

Service management principles

16 / 40
HrrmEiRSEIEELZR, RSRMHEBNRFIERRMIFESSS.

VeriSM™{REURIIE—INER AT 7 iIX—37457

Following the deployment of a new product or service, the service provider will provide
ongoing support in its use to consumers.

Which element of the VeriSM™ model describes this provision of support?

A) ENM. (Define)
Define

B) 47 (Produce)
Produce

C) 2t (Provide)
Provide

D) i, (Respond)
Respond

Zif & VeriSM™ Foundation (VERISMF.CH)
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17 /40
VeriSM™EHE NGRS EEAMRDRRZA?

What is the main reason VeriSM™ re-defines traditional service management?

A) VeriSM™GHEARNMIRSZEER D ARELNR, XERELAEETLIBEETF.
VeriSM™ divides service management within an organization into separate entities so all
entities can work autonomously.
B) VeriSM™IGEEMMY, RSB HALIRML.
VeriSM™ focuses on the big picture and does not provide practices for specific organizations.
C) VeriSM™ESTHEA, EULaIAEEI TR JSCIEFIELEL,
VeriSM™ incorporates new technologies and therefore helps IT departments with digital
transformation.
D) VeriSM™EENMALN SN BAHEIMEIIRS RRHEE.
VeriSM™ regards the entire organization as the service provider with capabilities that work
together.

18 /40
R4 VeriSM™MEEMITIRS EERTEX D FFHR?

What differentiates VeriSM™ from other IT service management approaches?

A) VeriSM™EITSEAIRSZEELHXSTK.
VeriSM™ differentiates IT from other service management practices.
B) VeriSM™XiFELFHIEITSMHE.
VeriSM™ focuses on the corporate IT aspects in the organization.
C) VeriSM™ZXRHAITIRS EELEAIS TR,
VeriSM™ is a logical evolution to older IT service management practices.
D) VeriSM™EFTBEHNEENMNE ZEE.
VeriSM™ takes all organizational capabilities into account.

E{ S VeriSM™ Foundation (VERISMF.CH) 11
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19/ 40
VeriSM™S| N7 EIEMIE (Management Mesh) RS, BEMBESTRIR. BEXHK. W5
FFTANER, SIS ™= RF RS

LA —TE RN B SHERMESRANITIL, BfRXT5A(€40COBIT?

VeriSM™ introduces the concept of the Management Mesh. This combines the four
elements of resources, management practices, environment, and emerging technologies to
create and deliver products and services.

In which element should frameworks such as ITIL or methodologies such as COBIT be
included?

A) FRERA
Emerging technologies
B) AR
Environment
C) B
Management practices
D) &R
Resources

20 / 40
EERALNSENRS EERNIEZ RE0EEEME (Management Mesh) .

TIPS RIE R BIE A2

The Management Mesh can only be built once the organizational governance and service
management principles are understood.

What else must also be developed before the Mesh is built?

A) &iHBE
Design specifications
B) izEitk!
Operational plans
C) AkBEItX
Strategic plans
D) fAit%!

Tactical plans

Zif & VeriSM™ Foundation (VERISMF.CH)

VerisM™
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21/ 40
VeriSM™ERIFREEN, (Define) MERAIBIREMA?

What is an objective of the Define stage in the VeriSM™ model?

A) BiRSFmERRSSIRITERAYEAIER AR
To address activities and supporting outcomes that relate to the design of a product or
service
B) AR mELIRSSAIAHZR
To ensure the product or service is available for consumption
C) MRLGHZRERIRSSEIN. ([AIRFIFER
To react to service issues, inquiries and requests from the consumer

D) S&EMRSEEFAPUTIIRE. MIRFISSiEL T3 E = TSR
To take the service blueprint and perform build, test and implement activities under change
control

22 /40
MLt AREF" (Produce) MERMEELS?

Why is testing an important part of the Produce stage?

A) EXBRRIXBEAERIFIX B YT
To define risk criteria and the risk appetite of an organization
B) HRmERSFEETEEK
To ensure that the product or service meets the requirements set
C) MRBLNERFTEELE
To ensure that the organization's requirements are in line with its strategy
D) HaRIEZAIERLES
To ensure an organization's architecture is appropriate

23 /40
UNB—IGEsNETRA (Provide) MEREI—HERS?

What activity is part of the Provide stage?

A) tgiE
Build
B) i&it
Design
C) oot
Improve
D) iz
Test

E{ S VeriSM™ Foundation (VERISMF.CH) 13
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24 /40
ML (Respond) MERENICR (Record) iEafidfizs 1 LA TH—TA?

What is covered by the activity Record in the Respond stage?

A) X&EER

Capture information
B) RfTER

Deliver results
C) fRARERT

Resolve the issue

D) RS

Source events

25/ 40
LATERLLSIRAEIA T RAAVeriSM™ERISERIFE (high-level process) ?

What steps describe the high-level process for adapting the VeriSM™ model?

A) BHTRA, EEEAEERPLE

Define the stakeholders, select the processes, and implement them in the organization
B) &#RN, iEF—EXE, I —MENIRNEERE

Establish the principles, select a set of practices, create a responsive operating model
C) WEEIITLE, MFEHERS, FEEHIT

Investigate all practices in use, select the best set, and make these mandatory

D) IBERFEELE, ERXTHESIE
Select the best management practice, focus thereon, and implement it step by step

26 / 40
VeriSM™ERIZEN, (Define) BERFZMKT RIFIRSSHIEN.

XIGENREELATENRE?

The Define stage of the VeriSM™ model produces a definition of what good service looks
like.

During which process does this activity take place?

A) BIEEBARSSIEE
Create the service blueprint

B) BUEMERTSZ

Create the solution

C) EMBEH#EETK
Define consumer needs

D) IRsEmR

Gather requirements

Zif & VeriSM™ Foundation (VERISMF.CH)
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27 / 40
RS NENBIREHA?

Which is the objective of service measurement?

A) IERRFEEEENMERFE
To demonstrate compliance with laws, regulations and contractual commitments

B) fHERSS1RALE RElE B STIZIRS B RIS
To enable service providers to manage the performance capabilities of underpinning service
elements

C) iLE#HEE THRHIRSAIRA
To enable the consumer to understand the costs of providing the service
D) EARSATHRAVE SRR ENFIRIGIAT

To quantify and qualify the results or outcomes provided by a service

28/ 40
BRRRENG, REREEHEUNEREGME, EXRINKNXEE K, BREEFAIRERHD
REMAIMSRA IR ET - ERERIEE A,

LA —Fh E IR SCRAR RIX M Al RR AU SR R U ?

An organization is growing rapidly and therefore wants to reconsider all their processes.
They find that testing is too risky. They want to minimize costs of fixing errors resulting
from late discovery of integration and test errors.

Which management practice would best address this issue?

A) 8E

Agile
B) EF{AIS/FAFAIE (CX/UX)

Customer Experience/User Experience (CX/UX)
C) #his

Lean

D) RSBZEMSERE (SIAM™)
Service Integration and Management (SIAM™)

29 /40
BRI IR SRS B

How can Agile be used to support service management?

A) TEFRSIEGERSEE, SERERTREER

Agile cannot be used as it is a project management-only practice
B) AFEHAF @RS

For building products and services iteratively
C) UEBNMARASZEZMARSEELE

For easy acceptance of all service management practices across the entire organization
D) GERBEHINE—HEMERS EERE

To build all service management processes like traditional waterfall projects

E{ S VeriSM™ Foundation (VERISMF.CH) 15
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30/ 40
DevOpsi{iieHIRS EIELH?

How does DevOps advance service management practices?

A) DevOpsiEEiz 7 RS EIERLERN,
DevOps sets up the principles for service management practices.
B) DevOpsiEiRSEIELHAR, LHUSHEIL,
DevOps shifts service management practices to the left which makes them leaner.
C) DevOpsReERTFH AT mIARSS.
DevOps should be used only to develop new products and services.
D) DevOpsHItSZRTEG TARSZEIER, EILASRTHRSS ST,
DevOps was established later than service management and therefore does not advance
service management practices.

31/40
ERFEMSER (SIAM™) f, HBEESREHEZEERMA?

What is the layer between consumer and provider in Service Integration and Management
(SIAM™)?

A) RBES
Service advocate

B) REZZEE (service installer)
Service installer

C) ARSSERE
Service integrator

D) IkZEHEE

Service manager

32/40
BaErhX D 7T ARRERTRE.

B—XRBET £ REBHEREFK"?
In Lean, different types of waste are distinguished.

What type of waste is “producing at levels of quality more than required by the customer"?

A) EF

Inventory
B) #BENA(T
Overdelivering
C) ZEIT
Overprocessing
D) &F=idH
Overproduction

Zif & VeriSM™ Foundation (VERISMF.CH)

VerisM™
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33/40
% (Shift Left) B—IG0ETA. RIFSHFHREIEEREERHMNER, NMREMER, 1549
BAFHREEFPXREEAITIE

VAN —I0EEA B T RS AIRHIE?

Shift Left is an approach which sees solution development, delivery and support pushed to
earlier stages in their lifecycle and so gains efficiencies, cost savings and improved
customer focus.

Which activity is not a feature of Shift Left?

A) THIARREREMELE

Auto-correction of operational issues after they have occurred
B) EOE4E AR ERIEHEN

Auto-detection of potential operational issues before they occur
C) SHBMERE_LSIF

Automatic incident referral to second line support
D) BEIIRSSSM2kHT

Self service incident diagnosis

34/40
UT—IUETRFARE (UX) ?

What is an example of User Experience (UX)?

A) RIFAE
Complaint handling

B) =PRSS

Customer service
C) FHAR
Support experience

D) BFAmE

User interface

35/40
FEAA T AR R I B B RS

How does continuous delivery positively impact change control processes?

A) ERFINEEESIRE.

It does not impact the change control processes.
B) ©EBEmMCNH TR,

It impacts the processes through automated testing facilities.
() EEIRHEZEERIRE,

It impacts the processes through delivering more information.
D) BilEAKENAIZEIEHIFIMRAE,

It impacts the processes through less rigorous change control.

E{ S VeriSM™ Foundation (VERISMF.CH) 17
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36/40
RATRHT G, LSIRSZETETR T EANK.

THIB—IUE T ARSS E R ERI Ik ak?

Technology is changing fast and this provides significant challenges for service
management.

What is a generic challenge identified for service management?

A) HREASTIEETE

Ensuring cost is matched to budget
B) EHAZR(ES IS5 R AAEILAC

Matching expectations to business relationships
C) SRELFH, AIHIMAR

More complexity and less visibility

D) BRSSEIETTIESHFRIRFIEELIR

Service management approaches support constraints

37/40

What is a key benefit of cloud?

A) RERIENNER

Enhanced internal communication

B) EhiRieREREN

Increased quality of the infrastructure

C) EftiRiEiRSEEIR

Increased speed of infrastructure service

D) IZEXBGFE(ET
Reduced operating risks

38/40
—MALIRERFASaaSHRRTT S==HIEFAMWIERM (1oT) iR,

MRS EENAERE, UTH—RRER, TEERERE?

An organization decides to use a SaaS solution to control their new Internet of Things (IoT)
monitoring devices.

What is most important to consider from a service management point of view?

A) YIEXRISEIRBIREFNIPHIE B EHE—E, XE—KEEK

That a key requirement for loT devices is to have unique identifiers and IP addresses
B) YIEXMIBRSS IR E AT AIRERASHF LRI EH

That loT services provide better behavior tracking to support real-time marketing
O) XE—I/MIIRS, REAFTEEIERS

That it is an outsourced service so no specific considerations are required

D) SaaS#RRTIZEWNSERSZMESIE (guardrails)
That the guardrails for the services must be respected also for SaaS solutions

Zif & VeriSM™ Foundation (VERISMF.CH)

VerisM™
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What is the advantage of Robotic Process Automation (RPA) in service management
processes?

A) RPAFILISSIMES Baft, EUATLAgERAR.

RPA automates tasks and therefore will always reduce headcount.
B) RPAFENR THUTESZANES.

RPA helps in enabling employees to perform more complex tasks.
C) RPAFILISEIMESSBEaL, MIiREEF T RARE.

RPA increases the quality of the produced products as it automates tasks.

D) RPAR—FIEF AR, TEBMATIRSEE.

RPA is a manufacturing technique which cannot be used effectively in service management.

40/ 40
—MARFEF TR B THEEL FEm e,

ROZESEXFVeriSM™ERIR I TER?
An organization wants to break out of fire-fighting mode and move to the proactive mode.
On which element(s) of the VeriSM™ model should the focus be first?

A) EM (Define) #4&r= (Produce)
Define and Produce

B) g
Governance

C) EEME (Management Mesh)
Management Mesh

D) #2ft (Provide) #Mai (Respond)
Provide and Respond

E{ S VeriSM™ Foundation (VERISMF.CH) 19
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1/40
AT —FhRiIA AT 55717 (shadow behavior)?

What is the best description of shadow behavior?

A)
B)
9]

D)

A)

B)

9]

D)

TRIBEBIEW T/ FERF I H MR LR

A junior observing a senior by doing job-shadowing and learning on-the-job
EESTEREHIE, BIPARRZEIHIL BXL TSR

Creating a tribal system where team members are overshadowed by others
REZFHARVELNRE, THRRARRTTE

Implementing systems or solutions without explicit organizational approval
RPERNA R ZZ R EAITIRS

IT service provisioning being so good that consumers are unaware of IT

Hix, BEAEMILIEREBENIKERRTDE, BREFFITHRBRR. B TAREREMER
RRSINEFINE,

Incorrect. Although job-shadowing is a valid skills development approach which yields good
results, it has no bearing on shadow behavior. Shadow behavior is about things such as the
introduction of systems into the live environment without approval.

HiR. VeriSM™BRR TIFSERNEAIRREMESESIE, RiEVeriSM™, 8RR XLERIFAT
A, NRETESR, 5T AERARI LR AT O BRRAVAL .

Incorrect. VeriSM™ removes the barriers and tribalism found in many organizations.
Overshadowing other team members is considered undesirable behavior and should be
avoided according to VeriSM™, but shadow behavior focusses on the lack of explicit
organizational approval for changes in organizations.

IEffg, &F1T7R8, BB FITRERRNGFEN—XE#R. NERARERENER (TEEHE) |
LPLINSTHRAKNG, FTRE A TIRSHSERM. Ok A; &5 2.3.1)

Correct. Shadow behavior and specifically shadow IT is a big problem in organizations. Not
following organizational approval processes and procedures (change management)
introduces unknown risks into the environment and may well have an impact on the
performance of other IT services. (Literature: A, Chapter 2.3.1)

iR, |ITIRSEMANERERRALEFI—NAT, XE— MR, A, R FTARERE
HOERABSEEFIE, MTIBINXEE, BEiERN.

Incorrect. It is a good thing if IT services are seen as non-intrusive and if services forms part of
the functioning of the organization. However shadow behavior is not positive as it means
things such as systems being implemented without approval and thereby increasing risk.

Dig

Zi{#%E VeriSM™ Foundation (VERISMF.CH) 20
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2/40
iRERYMA R IEEEMER?

How does governance flow through an organization?

A)

B)

9]

D)

A)

B)

9]

D)

HIEEZILAERE (governing body) , BHIGEEAA/ER JRSARRMIRMAREES, AL
BNEFIS T R B ZEAIAR.

Via delegation from owners to a governing body, who authorizes organizational capabilities
to create and support the outcomes to consumers.

BANSEHFAY, EENERHEGRIRSIURBEXE B,

Via good planning in the higher levels of the organization, where it is critical that there is a
clearly stated mission and vision with key objectives defined.

BEFEEDREMRERARS, MEE/TREAERED. BRMNER, ARERTHRIGEN.
Via organization-wide gatherings once or twice a year, where owners/stakeholders present
the mission, vision and objectives, and take feedback from employees.

RISH FRZEETERER, L8N AR RS EHER,

Via performance contracts between an employee and his or her manager, making everybody
responsible for part of the strategy.

I, TEALMNEITRIERESHHRERE, HIEAERFR. (Xt A, E: 25.2)
Correct. There needs to be an actual frame of delegation and authorization supporting the
flow of governance for it to really work. (Literature: A, Chapter 2.5.2)

Hix, RERLAASENMERY+OEE, BFEEEMARELENE. BEIETAEER, BH
IRIREENEBRRM, RIEGED. BRMBERREIT), HISILRERERE.

Incorrect. Although strategic planning in the higher levels of the organization is important, it
cannot be considered the backbone of how the governance flows. It will flow via delegation to
a governing body, who will authorize the organizational capabilities to take action based on
the mission, vision and objectives.

iR, REENEE/TREANED,. BRIBRRENATIEESESIN, BEREKENRE
BENE., BYETAER, BHAEERINSERARN, RiEftd. EEMBRRIITH, HIE
MiaERE.

Incorrect. Although openness and invitation to dialogue from owners/stakeholders about the
mission, vision and objectives may be advised, it cannot be considered the backbone of how
the governance flows. It will flow via delegation to a governing body, who will authorize the
organizational capabilities to take action based on the mission, vision and objectives.

Hix, REULRTS ERZENEERESNAEREE, BWREDARTRALN ER,. BEMOETFHS
BHIRRMFSRE, BREMEE/TRASREEZE, UFEEEEFRENRVREFESRS, AT
BE/TREANGLREIEFED. BREMBER, MaEERNERESZAREER. BRMNBRIELIE,
Incorrect. Although having commitments between a manager and an employee is a good idea
to ensure that everybody understands, and is accountable for their contribution to the
mission, vision and objectives of the organization, there needs to be an equally strong
commitment and accountability between the owners/stakeholders, who make the mission,
vision and objectives, and a governing body. Who then in turn authorizes for instance
managers to bring the mission, vision and objectives to life.

Dig
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3/40
AR SEERNERER .

UTH—IETFEyz—?
New technology has led to changes within organizations.

Which is one of these changes?

A) BREMHEELERIKAIIRSS SRR CIFTHIERS,
Services are driven by stable management practices which discourage technology innovation.
B) MRSBAILIASZMRLR, AT,
Services can be delivered from anywhere to anywhere.
C) HRRMRSIEERE—FEEEAITIREE L.
Services now undergo a more rigid functional change approach within organizations.
D) KEEREREETENRSEIESAHLE,
Services that rely on traditional rigid management approaches are preferable to organizations.

A) iR, BARERNATIEE, B VEIRATEFTEMALIFNE, MARRELIH.

Incorrect. Although stability is still important, the speed of technology change requires greater
innovation, not less.

B) IEff. FTRIBIFTIAGSIRSIUUAZIRLIR, EHAMSHaT, (OJEk: A, &: 3.1)
Correct. New innovative technologies have allowed services to be delivered from anywhere, to
anywhere. (Literature: A, Chapter 3.1)

C) BiR. BUELEAHRABIRENE, MAREENERE,

Incorrect. Agile approaches provide the desired flexibility, rather than rigid management.

D) &R, ARFAESKEGEMNERENRSEESE, BN REZAIIE.

Incorrect. Organizations are looking for more Agile and flexible approaches to service
management, to cater for a fast changing environment.

Zi{#%E VeriSM™ Foundation (VERISMF.CH) 22

VerisM™




=%IN

4/40

%
LAE]

Di

FHEERIER T RN AER A — R ERIRS BT,
LIRSS BRI E TR e

gital transformation requires a new approach to service management within

organizations.

W

here is the ownership of service management principles situated in an organization?

A) RESEERTISWE,

B)

9]

Business owns service management.
RS EERETITIU.

IT owns service management.

RS EEIMILE=TIALNRS.

Service management is outsourced to a third-party supplier.

D) RRBEEBTENMAL,

Service management is owned across the whole organization.

A) iEiR. IRFEEPHNITEDFESANTR. HE, TS HEUSSEMBEMHAVEENERS, m

B)

9]

FRRRET ST,

Incorrect. IT capabilities in service management need to blend in with those of other capability
areas like human resources, sales, marketing, or finance, and not be in the sole ownership of
the business.

HiR, HTHACEDR, REEEABNETITEE

Incorrect. With digital transformation, service management can no longer be the sole property
of the IT capability.

HiR, RSEEE—SNRENEWHNGE, NURMIMILE=T.

Incorrect. Service management is an enterprise wide approach, and should not be solely
outsourced to a third party.

D) IFffs. FRARSZFEEZHWSRENBETRIRAN, BASFUSSIARBR. RSEEFRAEIEWE

H. (X#k: A B9 3.5)

Correct. Products and services require input from multiple business capabilities who must all
work together to achieve organizational objectives. Service management is elevated to the
enterprise level. (Literature: A, Chapter 3.5)
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How can organizational culture best be described?

A)

B)
9]

D)

A)

B)

9]

D)

EEETAARNSARTESN—RINRELEE,

It is a collection of common practices based on the backgrounds of all employees within an
organization.

BRRT —MERNEEEFMEERIMIESD.

It is a reflection of the ethnicity of management and owners within an organization.
EE—MHRARMSEES IEXAIK.

It is a culture that is exclusively defined by the leadership of an organization.
ERRANNER. %, tnd. K. SOMNINRRESLUISAEEER.

It is a collection of, and interaction between, the values, systems, symbols, assumptions,
beliefs and habits of an organization.

HiR. VeriSM™GRIITE X A" BIERLAREBARIT ARSI, 155755 1SLRAIE
B, EEREEKNUTFIER, B RIREETRISSRANUERAIER., RTBASFINAR

., BERRMIINHHIIRSEEZEZ—,

Incorrect. VeriSM™ defines organizational culture as "the collection of written and unwritten
rules, guidelines and practices that shape the behaviors of the people in an organization”. The
answer may seem correct but to say that common practices are based on employee
backgrounds is not correct. Employees certainly influence organizational culture but it is only
one of many factors that influence culture.

HEiR. BERBRIEENMELNERENMEENS SRBEMAELR, EXEaHEMA—LEREBIEN
e, XHUSRENENERRNARTRA, NWARERALRSRIHH B IR,

Incorrect. Although the context in which an organization operates and managers' and owners'
backgrounds influence organizational culture, a number of other factors do too. Cultural
references from one group of organizational stakeholders should not form the exclusive basis
of organizational culture.

Hix, BLANMSERATBLSNEEATIEZAIRERRRkTEN, BRAREE—IIRELER,
MRASENEEE =N SELNBIFRNARTE, HIIRRMSAI, XE—TUREEZERRANE
%5, REDRLALMUMIS,

Incorrect. The leadership of an organization certainly has a major influence on and may
actively affect organizational culture, but it is by no means the only determining factor.
Leaders and managers that attempt organizational change that opposes organizational
culture will soon find out that this is a difficult and sometimes dangerous task and they will
mostly see their change initiatives fail.

B, MURIEHMNEARFHIHES". RIEVeriSM™, LIRS LRIFRIAE BRAISEARMNENL.
Ry, tns. EK. SR, UESBITNBARMESNEIN, SBEARIENE
X, R BEXY, BEREHRT. MRTEEEI MERMNFIERAIMEL I FAIGER

e (#k: A; ET5: 2.4)

Correct. Culture is ‘the way we do things in an organization'. According to VeriSM™ a good
description would be "the collective values, systems, symbols, assumptions, beliefs and habits
of an organization". All of these can be observed in how things are done in the organization.
Culture is often not formally defined, written down or taught to new employees. They will
mostly "observe and learn how things are done here". (Literature: A, Chapter 2.4)

Dig
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What is the most important element of creating a service culture?

A) BFRTHMILREAINF
Empowering the employees to make decisions on their own
B) &EMRSI, LIRESIAREE
Measuring the service culture in order to identify improvement ideas
C) BIITIMARIES EEEERBAENZEEN
Showing the consumer that they are valued by actions rather than telling them
D) HIRTHEEERIFAIRSITH

Training employees and managers in good service behavior

A) iR, BAENESKEEARNT IZRSUMBERNINRZ—, BEARRRSHUIRER
TR, FELE, BIITAMARIESEEREXRBIIZIEN, XA EREENTE.

Incorrect. Although empowerment is one of the areas senior management needs to focus on
in order to bring about a service culture, it is not the most important element of a service
culture. Actually showing the consumer that they are valued by actions rather than just telling
them they are valued, is the most important element though.

B) &R, ATHEARNILEER, GEMINSSIRIMEEERE. BE, XAEEIERSXUHREETT
=. B F, BYTHIMARESHRBRERBMONZIEN, XA REEEITER.

Incorrect. In order to know whether someone is doing a good job, it is important to measure
their performance. However, it is not the most critical element in bringing about a service
culture as such. Actually showing the consumer that they are valued by actions rather than
just telling them they are valued, is the most important element though.

C) IFfa. iLEBERZIUMNZIENRRSIHUPRERNTTR, O A, 1. 44)

Correct. Making the consumer feel that they are valued is the most important element of a
service culture. (Literature: A, Chapter 4.4)

D) iR, EEERPOEIRS X, EENETISOHER TSR ARKTE), FHEEBEIHTAEFR,
FXt, BITHMARIESAEHERBHIZIEN, XA 2ERSXUEEENTTE.
Incorrect. In order to create a service culture in an organization, it is important that employees
and management are actually enabled to do so, and to recognize good behavior when they
see it (or when they see bad behavior). Actually showing the consumer that they are valued by
actions rather than just telling them they are valued, is the most important element of
creating a service culture though.
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What is the key activity of a leader's role?

A) XEER
Focus on results
B) XpE&/IME
Minimize risk
C) HhEE
Motivate colleagues
D) IREMEHR
Set up priorities

A) iR, XETEEEAENXEEN.
Incorrect. This is a key activity of the role of a manager.
B) {HR. XETEEERBNXEEN.
Incorrect. This is a key activity of the role of a manager.
C) IFf. XIGEIRSVeriSM™MSEREARI— M ERFHE. BEtEEFED B AMSATEED.
(zEk: A; ET: 5.1)
Correct. This activity is a key characteristic that is connected with the role of a leader in
VeriSM™. Other key characteristics are empower and inspire. (Literature: A, Chapter 5.1)
D) #iR. XEScrumIlBH = miEERIXEEN.

Incorrect. This is a key activity of a Product Owner in a Scrum project.
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LA RIS BE R T +1328E17

Emotional intelligence defines two main competencies: personal and social.

w
A)
B)

9]

hich two skills belong to the social competence?

IR FHFIREZR

Joining social groups and actively communicating with them
TSR 2RI B SRIARSE

Knowing social media and what people or situations can influence us
HERIRIXREE

Social awareness and relationship management

D) HARXABEIEMEBIIIKRIS

A)

B)

9]

Social content management and using social techniques

HiR. DAL RZERFH SEBAALR R E A AE AL,

Incorrect. Joining social groups and communication between group members are activities
not skills.

HiR. THRAKERNERELUSES I A—TEE. T HERBSHNANIERRET AREEIaIREE,
Incorrect. Knowing social media is not enough to express it as a skill. Knowing what people
and situations can influence ourselves is a skill that belongs to the personal competence.

Iy, A RiRfIxAZEE R Travis BradberryflJean GreavesEEIIHIENE (15752.0) (Emotional
Intelligence 2.0) FENMMIEINLRE, (Z#k: A; E5: 5.3)

Correct. Social awareness and relationship management are two skills defined by Travis
Bradberry and Jean Greaves in their work “Emotional Intelligence 2.0". (Literature: A, Chapter
5.3)

D) &R, HRXABEEMERHISAETNEE. KIDEFAFENIE. —EFAMN, Mkl

RER, BEFIMIKIIEF TG, RIDZUWTHE, el TrRTEIEESY.

Incorrect. Social content management and using social techniques are not skills. Techniques
are the use of specific tools, a set of rules of conduct, and skills are immanent, acquired during
the learning process and growth. Techniques are how to do something, skills are how to know
and understand something.
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What is the name of the professional that should have both breadth and depth of
knowledge?

A) ABIER
A-shaped professional
B) IBUE5
I-shaped professional
C) IRSEMEER
Service management expert
D) TRAER
T-shaped professional

A) iR, ARLEREER LWL AR,
Incorrect. An A-shaped professional develops expertise in two specialties.

B) iR, IBERTITHTEIE, AEEZULREFSEFREIR,
Incorrect. An I-shaped professional is focused on a specific area and has great depth of
information and knowledge within that area.

0) iR, RBEEERE—IPAL, MAR—MIEE, ERXHIFERRITRIUHEAIRE.
Incorrect. Service management expert is a certification, not a theory, which focuses on a
particular knowledge area and depth only.

D) IEffs, TEIERZERESWNHEECIFIISSONRERRE, BiESRIWHEWATENMERR,

(3Z#k: A; &30 5.5)

Correct. T-shaped professional is an innovative and powerful problem-solver in their area of
expertise and capable of interacting and understanding specialists across a wide range of
capabilities. (Literature: A, Chapter 5.5)
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What is the last stage of team formation?

A) fBE/455R (Adjourning)
Adjourning

B) A% (Forming)
Forming

C) &% (Performing)
Performing

D) Z8% (Setting-up)
Setting-up

A) IFff, XEENEZRENER, BIBUKMESSehk, BAER. BRSO BIATR. B%. e
fo&¥E. (8 A; B 5.7.1)
Correct. This is the last stage in the formation of a team. It is when group tasks are complete
and the team disbands. The other four stages are forming, storming, norming, and
performing. (Literature: A, Chapter 5.7.1)

B) {HiR. XEREZNE—MER, EREEIANRA THRERIBR,
Incorrect. This is the first stage in a team formation. It focuses on getting to know each other
and understand the purpose of the team.

@) %%iioziix%ll)\ﬁ@ﬁg%ﬂll}ﬁﬁﬁo XM, KR, BAERAERLS AR, BFBAISERRIIFET
FE o
Incorrect. This is the fourth stage in the formation of a team. During this stage relationships,
team practices and effectiveness are synced and the real work of the team is now progressing.

D) &R, XAZHPANEZERIER.
Incorrect. This is not a stage in a team formation.
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Th

ere is a challenge that teams may operate in silos.

What is a recommendation that management should do to overcome this challenge?

A)
B)
9]

D)

A)

B)

9]

D)

EFPARL R Z EFFR—X—=iY

Implement one-on-one meetings between team members

7B BRI EIREN

Provide team-building activities for each team

LRIERNAZ BRRYEIRA

Reward teams who achieve their goals ahead of target
YEXRTHERKIERIER

Share information on the organization’s strategies

Ei;;‘i}_ﬁtﬁ%iy—ﬁﬁﬁﬂb?ﬁfduBAEF‘EEEBA*%?& B—HEZMEAEEREE, (BERZAIR
= §' W,

Incorrect. Such meetings are helpful in building a team spirit across a virtual team, but may
encourage the development of silos, by encouraging the team to look inwards.

iR, B EANBEPNEIRENISSEEGH, TSR SEBEBAIME.

Incorrect. Team building activities for each team will encourage team spirit, but not
collaboration with other teams.

HiR. RANERNIAZI BRI sER8 RS IES SRS 1F.

Incorrect. Rewarding teams for achieving goals ahead of target may emphasize competition
and discourage collaboration with other teams.

IFffs, PEHRRANMREFSEETEN IR, HESHTIERER. (8 A; & 6.1)
Correct. Sharing the organization’s strategic aims will help to focus the teams on the bigger
picture, so that the team works to help to achieve the overall objective. (Literature: A, Chapter
6.1)
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Successful expectation management depends on developing a clear vision of what is
expected.

How can this clarity be achieved?

A) BREIFMAAISLA (IRSRBNIMN) CRETHEER
Ensure that detailed SLA documentation is available
B) iREXIERLIERFHIARIER
Report achievement against agreed targets
C) REFPRARMRITEE
Set boundaries and provide a structure for delivery
D) EEIFEIHEBI

Under-promise and over-deliver

A) R, WRFEAXET TEREABH, WA—ESEEEHTAIR. RS FAIML/REFHHTIIER 4
BIRRSS A, LANBRSSEETT.

Incorrect. Detailed documentation may not necessarily improve clarity, if it is overly complex
or ambiguous. Service level agreements must be clear and state the level of service to be
provided and how this is to be measured.

B) &R, KpBirgERARK, MWRBFRSWSERFA—I, WnIIERSZAISRTFNSAEE, X
HUEFMBAYAIIN (SMEEEEN, BEEANRLEH) .

Incorrect. There is a danger that targets may be met, but the overall perception of the end-to-
end service is poor, if the targets are not aligned to the business requirement. This is known
as the watermelon effect (green on the outside, red on the inside).

C) IEfa. BBRRFRER(TEESHIRSTIAN—SFLHESZSAER. Ok A, E1: 6.2.1)
Correct. Defining the scope of what is to be delivered in an unambiguous way will ensure that
all parties are in agreement and prevent a mismatch between expectations and delivery.
(Literature: A, Chapter 6.2.1)

D) &R, HTHERSRHEEREBRMENRS S EAAMREMNLIE, BEESTEEREALIRIIRS
HBHAE, WHAESUPREEE, EEreBHE2ERNRSRTAIKE,

Incorrect. The ambition to under-promise and then deliver a better service than agreed does
not help clarify expectations, and may even raise expectations to an achievable level over
time, as there is no clear agreement on what the service provider is able to provide.
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What is one of the five components that should be considered in communication?

A) 1EEHH
Delivery mechanism

B) =E
Intention

C) R
Perception

D) SEE
Scope

A) Fffs. RFHGBFEZRONMER, DA GRE. BRNE. BiE. EBNFRE. (X
mk: A; ET5: 6.4)
Correct. In good communication there are five components to consider. These five
components are: sender, context, receiver, delivery mechanism and content. (Literature: A,
Chapter 6.4)

B) #Hix. SEFENETNEENANERZ—. 8MERNETE—MIENEN (BE) , GEAS
ESEINRAESK g ST R
Incorrect. Intention is not one of the five components to consider in communication. Every
message should have a defined purpose (intent) that the sender wants to achieve with the
communication.

C) EiR. RAARIBETNERNANERZ—, CRIEEENEFSI.

Incorrect. Perception is not one of the five components to consider in communication. It is
how the message is understood.

D) tHiR. SEEARIEFNEENANERZ—, MEETHREIEH I —EE5.

Incorrect. Scope is not one of the five components to consider in communication. The scope is
a part of a defined communication plan.
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What is the first important step in Kotter's Organizational Change Management (OCM)

model?

A) E—>ESE
Build a guiding coalition

B) Hh&RiERk
Create a sense of urgency

C) EVSFEHARA
Generate short-term wins

D) BHmiEHEN
Institute change

A) iR, XEKottertRBIWEMNER., XMMBRNERSEE—XBIEANSEENE, REES. Hhid
FaEIlE,
Incorrect. This is the second stage in the model of Kotter. This stage focuses on creating the
volunteer army with effective people who can guide, coordinate and communicate.

B) IFffi. IXEKottertREMIE—NER, EFRETAAS (FEREMEE L) K5 IEBEMNBATSREUE
B8, (3#k: A; E: 6.6.1)
Correct. This is the first stage in the model of Kotter. It focuses on using opportunities that will
appeal (emotionally and intellectually) to the volunteer army to urgently act. (Literature: A
Chapter 6.6.1)

C) iEiR. XEKottertREIPHHENIMNER, ERRIERRANFHEHIAZE, LIRRETESHITISSI SR
%0
Incorrect. This is the sixth stage in the model of Kotter. It focuses on collecting and
categorizing the short-term wins to show the achievement of tangible business results.

D) fHiR. XZEKottertZBFRIREMER, EREEHINTHSERRIMRINKEIEE,

Incorrect. This is the last stage in the model of Kotter. It focuses on linking new behaviors to
the success of the organization.

Dig
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Which element of the VeriSM™ model defines the management activities or practices
necessary to meet the governance requirements by providing guardrails or boundaries?

A) BN (Define)
Define

B) =IEM#E (Management Mesh)
Management Mesh

C) &= (Produce)
Produce

D) MRSEIERN

Service management principles

A) R, EXMERXESFmERSRITERAENMNEERR. EXMERERS SRRV ETNE
ERFREIE.

Incorrect. The Define stage is concerned with the activities and supporting outcomes that
relate to the design of a product or service. The Define stage works within the guardrails
provided by the service management principles.

B) 7"5:1% BEEMENEMESE, ERTENREEGE~RMIRS, BERIR. ik, NI
Incorrect. The Management Mesh does not provide the guardrails; it allows teams to work on
products and services flexibly, combining resources, practices, environment and emerging
technologies.

C) iEiR. EF-MBRNIHERSENCE, WRREREHEENTKR. EMRERSEERFERNUAEIR
SHERFRIF.

Incorrect. The Produce stage is concerned with the creation of the solution, ensuring the
outcome meets the needs of the consumer. The Produce stage works within the guardrails
provided by the service management principles.

D) IEffs, BRSEERUETERRERN, ME TN miIRSINERE, BT REFMXKEES
&, (Mmh: A; BT 7F09.1)
Correct. The service management principles are based on the organizational governing
principles. They provide the guardrails for the products and services delivered, addressing
areas such as quality and risk. (Literature: A, Chapter 7 and Chapter 9.1)
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HrrmEiRSEIEELZR, RSRMHENAFIERRMFESSS.

Ve

Fo
on

riSM™EEUAIR—TNEEZR R 71X —3245?

llowing the deployment of a new product or service, the service provider will provide
going support in its use to consumers.

Which element of the VeriSM™ model describes this provision of support?

A)
B)
9]

D)

A)

B)

9]

D)

ENX (Define)
Define

47 (Produce)
Produce

2 (Provide)
Provide

MMz (Respond)
Respond

HiR. EMHERXESmERSRITAEXAENFIEEMNSR.

Incorrect. The Define stage is concerned with the activities and supporting outcomes that
relate to the design of a product or service.

HiR, EFMBRKERRDRENCNE, HRARHEREENTER,

Incorrect. The Produce stage is concerned with the creation of the solution, ensuring the
outcome meets the needs of the consumer.

HiR. REMEREERRMTIEEERR T EAMER,

Incorrect. The Provide stage is concerned with making the new or changed solution available
for use.

IEffg, MERCFERFEIA T BB MRS, SHSHTEMMIERIEEZIINS:. Ot A &
T 7§014.1)

Correct. The Respond stage describes the support the consumer receives during performance
issues, questions or any other requests. (Literature: A, Chapter 7 and 14.1)
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What is the main reason VeriSM™ re-defines traditional service management?

A)

B)

9]

D)

A)

B)

9]

D)

VeriSM™EBLRRIIRS EED AABLK, XEELAERILIBETE.

VeriSM™ divides service management within an organization into separate entities so all
entities can work autonomously.

VeriSM™EEEMRME, T ERRMERE.

VeriSM™ focuses on the big picture and does not provide practices for specific organizations.
VeriSM™EES THHR, B AT BN TER ISR EL.,

VeriSM™ incorporates new technologies and therefore helps IT departments with digital
transformation.

VeriSM™GEANMBLIRN AR MR EMERIIRSIREE.

VeriSM™ regards the entire organization as the service provider with capabilities that work
together.

HiR. VeriSM™EEMNBLRIF—PEIK, A BEAD NENLIE,

Incorrect. VeriSM™ has a holistic view for the whole organization and it does not separate an
organization into entities.

Hix. VeriSM™EHT—MMIE (Mesh) SCHUSERRRIIRS EERME.

Incorrect. VeriSM™ provides a Mesh to personalize service management for a specific
organization.

HiR. FRIAHHSCULE, (BAREEHENRSEENEERE.

Incorrect. This is true, but not the main reason why it re-defines service management.

IEffs, XEVeriSM™MIITSMZBNEXRXE], (3X@k: A; E5: 9.2)

Correct. This is the key differentiator between VeriSM™ and ITSM. (Literature: A, Chapter 9.2)

Dig
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R4 VeriSM™EEMITIRS EERTEX D FFHR?

w
A)
B)

9]

hat differentiates VeriSM™ from other IT service management approaches?

VeriSM™GITSEMIRSZ ETELRX 5T,
VeriSM™ differentiates IT from other service management practices.

VeriSM™ K FARHRITBIITISH.

VeriSM™ focuses on the corporate IT aspects in the organization.

VeriSM™ 23S RHAITIRSS EE LIS TR,

VeriSM™ is a logical evolution to older IT service management practices.

D) VeriSM™ZErEHEEEIMNEETTE.

A)

B)

9]

VeriSM™ takes all organizational capabilities into account.

Him. VeriSM™GRTEER IR HRtiEZEEIRSSHIRE

Incorrect. VeriSM™ regards all departments and areas as capabilities in delivering consumer
services.

HiR, VeriSM™IGEEEMAL, MANNZIT.

Incorrect. VeriSM™ focuses on the whole organization, not just IT.

HiR, VeriSM™MBXTFHRFKiT, (EXEABUERITIRSEEENMN 2.

Incorrect. VeriSM™ is the next step, but has a broader focus then traditional IT service
management.

D) IEff, VeriSM™EGENMERMIE—PER, BNMARERSRAE, MR MERINESTHALIR A~

RAARSSAYERNI, (SZ@k: A; E15: 9.2)

Correct. VeriSM™ has a holistic view over the organization as a whole. The entire organization
is the service provider and the individual departments are the capabilities that support the
organization as it delivers products and services. (Literature: A, Chapter 9.2)
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VeriSM™S| N7 EIEMIE (Management Mesh) RS, BEMBESTRIR. BIEXH. K5
FFTANER, SNEFIR PR IIRSS.

LA —TE RN B SHERMESRANITIL, BfRXT5A(€40COBIT?

VeriSM™ introduces the concept of the Management Mesh. This combines the four
elements of resources, management practices, environment, and emerging technologies to
create and deliver products and services.

In which element should frameworks such as ITIL or methodologies such as COBIT be
included?

A) FRERA
Emerging technologies
B) AR
Environment
C) B
Management practices
D) &R
Resources

A) R, AR TIRS. BiIIIBRRNSGERA LAIHE, AILAERI IS IRSSESFIR.
Incorrect. Emerging technologies are the advances in overall technologies such as cloud
services, automation and the Internet of Things which may be exploited when designing and
delivering a service.

B) $HiR, MMRHEEIEHALSUL. iRt EESRE,

Incorrect. The environmental aspects include the organizational culture, market position, and
regulatory framework.

C) IEff. MISHEIRELHEREIEITILSELLIRCOBIT, SIAMAIDevOpsE/Tikit, BLIRIETKIER
ERm— . (OZ@k: A; B 10)
Correct. The management practices element of the Mesh includes frameworks such as ITIL,
and methodologies such as COBIT, SIAM and DevOps. The organization chooses which to use,
dependent on the requirement. (Literature: A: Chapter 10)

D) &R, HRRBRARFTAmIIRSHESR, HIINAS. BESHE.
Incorrect. Resources are the elements an organization draws on to create products and
services, such as people, money and assets.

Zi{#%E VeriSM™ Foundation (VERISMF.CH) 38

VerisM™
Digital Trans formation




=%IN

20 / 40
EERALNSENRS EERNIEZRE0EEEME (Management Mesh)

TR SRR AHIEA?

The Management Mesh can only be built once the organizational governance and service
management principles are understood.

What else must also be developed before the Mesh is built?

A) &HGE
Design specifications
B) izEitk!
Operational plans
C) AkBgItH
Strategic plans
D) fAitx!

Tactical plans

A) iR, EEMSATHANRCTRIRS. RiTAEEFBEERMEEIEN.
Incorrect. The Management Mesh is used to develop and deliver products and services. The
design specifications are developed using the Management Mesh.

B) ’f’a*iidié%iﬁ'ﬁﬂ%&’f’@@%ﬂ@’f%%%ﬂfﬁﬂ’ﬂa RIEER, RSRUEEEMNENREER, HIelEE
Eitil,
Incorrect. Operational plans are developed following the building of the Management Mesh.
Based on the requirements, the service provider chooses the best elements for the Mesh to
create the operational plan.

C) IEfA. IRSBSREMEBFALSIENRSEERNFMRENMEFIEAFRIE, SlEsiBitifRiEEE
oK, FEMCEN T EENE, (8 A; &1 10.5)
Correct. Working within the guardrails set by the organizational governance and service
management principles, the service provider develops their strategic plans to address
consumer requirements. Based on these, the Management Mesh is built. (Literature: A,
Chapter 10.5)

D) ’;’a:ia“e, AT ZEMEEEMEETIERN. RIEER, RSRUEEEMENREESR, HIEEEMA
N,
Incorrect. Tactical plans are developed following the building of the Management Mesh.
Based on the requirements, the service provider chooses the best elements for the Mesh to
create the tactical plan.
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VeriSM™ERIFREEN, (Define) MERAIBIREMA?

What is an objective of the Define stage in the VeriSM™ model?

A)

B)
9]

D)

A)

B)

9]

iR S mEARSS IR A RAYENFIARR AR

To address activities and supporting outcomes that relate to the design of a product or
service

TR REIRSS AT iR EE

To ensure the product or service is available for consumption

MEALHZEEE ARSI, ERAFFEK

To react to service issues, inquiries and requests from the consumer
EERSEEFATR. MIRFISSiE T3 E = TAER

To take the service blueprint and perform build, test and implement activities under change
control

I, EMRXRTERSRS S mRitaXiE. OOk AZE®11.1)

Correct. Define is about addressing the activities relating to the design of a service or product.
(Literature: A, Chapter 11.1)

IR, XRZVeriSM™EEIiZ{tt(Provide)iERAY BT,

Incorrect. This is an objective for the Provide stage of the VeriSM™ model.

IR, IX2VeriSM™EZUNEIN (Respond)FTERRIB IR,

Incorrect. This is an objective for the Respond stage of the VeriSM™ model.

D) $HiR, XZVeriSM™EEILF=(Produce)bERAIB IR,

Incorrect. This is an objective for the Produce stage of the VeriSM™ model.
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Mt At AREF (Produce) MERMEELS?

Why is testing an important part of the Produce stage?

A) EXBRRIXBEERIFIX B REF
To define risk criteria and the risk appetite of an organization
B) MR mERSHEEEK
To ensure that the product or service meets the requirements set
C) MRBLNERFTFEELE
To ensure that the organization's requirements are in line with its strategy
D) HAfRIEZAIERLES

To ensure an organization's architecture is appropriate

A) $BiR. TENX(Define)ER, HEANEIRFRABEIRIE, FHESRSRIEXAXBENFEN.
M B RFTAIE R B ARSS B mAYS [T XEEK, MAREXNERAS.

Incorrect. The organizational appetite for risk is the responsibility of governance structures
and risk criteria associated to a product of service are defined during the Define stage. Testing
needs to make sure that the introduction of a new or changed service or product meets the
requirements set with regards to risk and not to define what these requirements are.

B) IEffE, MXFEMRmERSHEENMBRIENIERK, HelgeAFE RN, AueErmaiR
SREMEIIRFRERSTRNTREARTRK, RERSH - mEAMEEXMRIKENEREHEEIE
WRAINEE, ATRAM. RAFRSUEES, BNHENRR REIRS SRR S R RIS ME
AISCER.  (OZ@k: A, SB7TEMH12581)

Correct. Testing needs to ensure that the product or service meets the requirements set in the
Define stage. This may include a number of tests that checks, for instance, if the product or
service will meet the stakeholder needs that prompted the development of the product or
service. Checking whether a service or product meets requirements set in the Define stage
normally include activities like testing functionality, usability, technical compatibility etcetera,
but testing should also ensure that the product or service enables business outcomes and
facilitate the realization of business value. (Literature: A, Chapter 7 and Chapter 12.5)

C) iEiR. WIFRANERESHFANANRIRSSEEMEEENSRE, MARURNBER. A,
VeriSM™EEIRT At A QIR B EREE R R IR,

Incorrect. Validating whether organizational requirements support the organization's strategy
is the responsibility of the governing body and management and not the objective of testing.
However, the VeriSM™ model may provide valuable feedback to governance structures and
management to that end.

D) r:E*ti% THMEALRRERE SR — TN EIEER). WA R mANIRSS SRR ERV AL BRI A2
%o
Incorrect. Evaluating the appropriateness of organizational architecture is a management
activity. Testing should ensure that products and services are aligned with the defined
organizational architecture and not the other way around.
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AT —TuEsIETiRMEE (Provide) MERAI—ERD?

What activity is part of the Provide stage?

A) tgiE
Build
B) i&it
Design
C) Hu#
Improve
D) izt
Test

A) EiR, WEETVeriSM™&ERF= (Produce) mAEFMERAI—EBD. MWEKENX (Define) MR 4
BIRRSS BRI RTTTRILTRY, AR AT R AIIRSS B R B ARSS .

Incorrect. Build is a part of the Produce stage of the VeriSM™ Model. Build turns the service
blueprint produced in the Define stage into actionable plans and then into action that
produce the new or changed service.

B) {HR. EABRTRMUMERN—TERD.

Incorrect. It is not a part of the Provide stage.

C) IEff, BUARVeriSM™EEURMMERAIN—IUES). SUHERMEFFISHER, (CIECAET:13.2)
Correct. Improve is an activity of the Provide stage of the VeriSM™ model. Improve includes
maintenance and improvement activities. (Literature: A, Chapter 13.2)

D) iR, WIXREFMERA—ERD, R mERSERRIHEZ . BRI RERFE
w, FABLEIR R,

Incorrect. Test is part of the Produce stage and ensures that the product or service is tested
according to the designed plans. These tests should cover a variety of circumstances and will
be based on organizational governance.
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MR, (Respond) BERAYICR (Record) i@EzmifEs & LATH—IR?

What is covered by the activity Record in the Respond stage?

A) REEE

7K7l< A/
Capture information

B) RfTER
Deliver results
C) fEREIRT
Resolve the issue

D) RS

Source events

A) Ftfy, REERRTICRENMEZCE. (XEtAFT:14.2)
Correct. Capturing |nformat|on |s covered by the Record activity. (Literature: A, Chapter 14.2)

B) %E'L?Eo 3&1‘_.]- %E:.FMEEIEEH Tm/B@o

Incorrect. Delivering results is covered by the Manage activity.
0) #HiR, BROAETEEEINEECE.

Incorrect. Resolving issues is covered by the Manage activity.

D) &R, FEURETEIEEMRIE

Incorrect. Sourcing events is covered by the Manage activity.

25 /40
LATBRES R EA T RAVeriSM™ERINERIRE (high-level process) ?

What steps describe the high-level process for adapting the VeriSM™ model?

A) Eﬁﬁﬁq:/?\A ;=FUIL$EE#TZH—/\EP7QHE

Define the stakeholders, select the processes, and implement them in the organization
B) &#JRN, iEF—EXE, I —MENIREEREI

Establish the principles, select a set of practices, create a responsive operating model
C) BEMBIITEE, BR&EERES, FEbliiT

Investigate all practices in use, select the best set, and make these mandatory

D) iGERER(EEESE, BERXTFHELSLNE

Select the best management practice, focus thereon, and implement it step by step

A) EIR, XEFENSENVeriSM™MERITX, BENEREFTEEZEARN, LHACERT.
Incorrect. These activities have nothing to do with the adaption of the VeriSM™ model.
Adapting means that first principles, practices and an operating model need to be established.
B) IEME, XLREMVeriSM™MERIRILE, (LA ET15.1)
Correct. These are the steps in adapting the VeriSM™ model. (Literature: A, Chapter 15.1)
C) $HiR, VeriSM™5WIE (Mesh) LR, BRESIHK., ENERERGEELR 2/, BHEEEY
FUFEEER.
Incorrect. VeriSM™ works with a Mesh, containing more practices. Adapting means that in
addition to selecting practices, principles and an operating model need to be established.

D) $#iR, VeriSMMARIRZFE—FILE, MERRESMEIIEE. BNEWEFTEEZRN, FHIH
EELEMIEZERI.
Incorrect. VeriSM™ is not about selecting one practice, but about using the required practices
together. Adapting means that principles, any new management practices and an operating
model need to be established.
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VeriSM™EEIRIZEN. (Define) BERFZAR T RIFIRSHIEN.

XIGENAREFELLTENRIE?

The Define stage of the VeriSM™ model produces a definition of what good service looks
like.

During which process does this activity take place?

A) GRS EE
Create the service blueprint
B) GiEfERSZE
Create the solution
O EUHBREBR
Define consumer needs
D) W&EFK

Gather requirements

A) iR, RSBEERZSE (Produce) MERAESMHNH. BEIMSHTFANT: RSFHEK. FHF
REAR BRIEMN RO E BIsirIRkS. (008l AET: 11.6)
Incorrect. The service blueprint is the guiding document for the Produce stage. It contains a
detailed specification of the service: the service level requirements, the support model as well
as the measurements and reporting as agreed in the requirements gathering stage.
(Literature: A, Chapter 11.6)

B) ﬁ%;i% XEEIRITNETE, BEEETRY. 8. EEMNReMRIFSERNGE. (X
A ET:11.5)
Incorrect. This is the process where the design is constructed including the method of
measuring good performance for availability, capacity, continuity and security. (Literature: A,
Chapter 11.5)

C) iEiR. XIGEMEAHEE, BHRERFKEEEERIERLTHE, wEEMAH—LSEN, ARER
FEEPPANGEE, (XA F5:11.3)
Incorrect. This is too early in the process. Consumer needs are often established in a business
case, the approval of which then triggers further activities which result in performance
measures being included in the service blueprint. (Literature: A, Chapter 11.3)

D) IFffs. EWESERERIIREF, EUINEEMAMIENEMER (BEREFSEINRN) XN TESEEE
RS, (ZBRAETS11.4)
Correct. During the requirements gathering process the functional and non-functional
requirements are established (including what good performance looks like). This drives the
construction of the appropriate measures and reporting. (Literature: A, Chapter 11.4)
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RS NENBIREHA?

Which is the objective of service measurement?

A) IERRFEEEENMERFE
To demonstrate compliance with laws, regulations and contractual commitments
B) fHERSS1RALE RElE B STIZIRS B RIS
To enable service providers to manage the performance capabilities of underpinning service
elements
C) iLE#HEE THRHIRSAIRA
To enable the consumer to understand the costs of providing the service
D) EARSATHRAVE SRR ENFIRIGIAT

To quantify and qualify the results or outcomes provided by a service

A) iR, EMEREHEAEERSHINRSHEEREET—, AAREHEENEKRBR.
Incorrect. Compliance is one of the four service measurement considerations which helps
enable management of the service. It is not the overall objective of measurement.

B) (iR, BEAX—IEENRSREEIFEEE, EFFKGHEETRADE, BARMIRSEENER
pUIR
Incorrect. Whilst these measures are important for service providers, they are not of interest to
consumers and do not reflect a holistic view of service measurement.

C) HiR. THHMREIRSIMATIRSIREEEE, WEBREFRE, HEEBEXOHENRANEMNRS
FRERENAYMNME.
Incorrect. Understanding the cost of providing service is important to the service provider
rather than the consumer. Consumers are more interested in the cost of consumption and the
value they derive from the service.

D) IEff. EISSG T RIRSIEZRE IARBEENARERSNE, BEERSEIN. 8 ks 2R
HBEERRMNERSIN. (LA ET:104.4.1)
Correct. Measuring a service begins by understanding the service and the consumer and how
the consumer receives the value of the service. Measurement (and reporting) is the means by
which value is demonstrated to the consumer. (Literature: A, Chapter 10.4.4.1)
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BRRRENG, REREEHEUNEEME, EXRINKNXE X, BREEFAIRERHD
EEERFINTER A IE R ERNERIEE A,

LA —Fh E IR SERAR RIX M Al R AU SR R U

An organization is growing rapidly and therefore wants to reconsider all their processes.
They find that testing is too risky. They want to minimize costs of fixing errors resulting
from late discovery of integration and test errors.

Which management practice would best address this issue?

A) BuE
Agile
B) EF{AI/FAFALR (CX/UX)
Customer Experience/User Experience (CX/UX)
C) #ha
Lean
D) IRSBEMSERE (SIAM™)
Service Integration and Management (SIAM™)

A) iR, BUREEREERE. BROEMNBKEHEENEN. SEREREATIE, RiFFIREIES
R, BEBREMAEIMEE. SR8, B, SIERSERRAX N IRNRESTELRE,
Incorrect. Agile includes the ability to think quickly, solve problems and have new ideas. An
Agile organization would be fast moving, flexible and robust, capable of rapid responses to
unexpected challenges, events and opportunities. Therefore Agile will not be the best
management practice to address this issue.

B) iR, CX/UXERF MRS IEHRE S RARSEERAZANXR. X—EEIHRASHRSN
[EREARRAIBA,

Incorrect. CX/UX is the relationship between the consumers of products and services and the
organization that produces them. This management practice will not address the costs
associated with testing issues.

C) IEf, BmifFERIEaTREIR, SAREMND SN TIFEXAER. mEETLUGI
NBEPEERAR, REAMERFIMNER, BREEERATE. (XA FT:16.1)

Correct. Both Lean and Continuous Delivery improve minimizing delays associated with
testing efforts. They both also minimize testing risks and find integration and test errors
before they become too expensive to fix. (Literature: A, Chapter 16.1)

D) $HiR, SIAMEZEN—ERN. LEM/ZE, BTFEE. Sk, RENNEZS MRS RMEENRS R
. SIAMAREETHIRSUR TIERXAIBA.

Incorrect. SIAM focuses on defining a set of principles, practices and approaches used to
manage, integrate, govern and coordinate the delivery of services from multiple service
providers. SIAM does not specifically focus on minimizing costs associated with testing efforts.
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BRI IR SRS EE?

How can Agile be used to support service management?

A) TEAASESTHRSER, SERERTREEE
Agile cannot be used as it is a project management-only practice
B) AFERFAF MRS
For building products and services iteratively
O) UEBNMARASSZESZMARSEELE
For easy acceptance of all service management practices across the entire organization
D) &f&EsmBE I — R ATERSERME

To build all service management processes like traditional waterfall projects

A) IR, SUELBAMYAILIATIHEEE, KReLIRTRE GRS EE.

Incorrect. Agile practices can be used not only in project management but also in business-as-
usual activities and in service management.

B) IEff. IERFAF MRS EREEESE. (CIELAET5:17.6)

Correct. Iteratively building products and services follows Agile techniques. (Literature: A,
Chapter 17.6)

C) EiR. BURESINERLDZELHEHTER, REETEIHRAZR MR EERMMEREEZ R —MNFERY
Incorrect. Agile promotes an iterative approach of introducing change step by step; gaining
ongoing acceptance of service management practices in entire organization is continuous
process.

D) &R, BUELBRESIERTARSH M, MHEMUAAKEENTTLR.

Incorrect. Agile practices promote the building of services and products iteratively, whereas
waterfall does not focus on iterative building.

Zi{#%E VeriSM™ Foundation (VERISMF.CH) 47

VerisM™
Digital Trans formation




=%IN

30/ 40
DevOpsi{iieHIRS EIELH?

How does DevOps advance service management practices?

A)

B)

9]

D)

A)

B)

9]

D)

DevOpsiEi7 7 RS EIERLEE/RN,

DevOps sets up the principles for service management practices.
DevOpsiSiRSZSEMELHAR, SLHAEREIL.

DevOps shifts service management practices to the left which makes them leaner.
DevOps RBERTFF & #Hi = Rk .

DevOps should be used only to develop new products and services.
DevOpsHIWSERTEMRTIRSZEE, EASIRA RS ST,

DevOps was established later than service management and therefore does not advance
service management practices.

iR, DevOpsZRIRSZEENIERAMIS, FITEEIIRS EIESLHRL,

Incorrect. DevOps cannot set up principles as they are an inherent part of service
management.

1Fff§, DevOpsaJLUSARSS &L/, LIRS EIESCHAREWMIRS EIEENEaM, M
fR5EESLR,  (SHLA FET5:18.7)

Correct. DevOps can advance service management practices by shifting them to the left,
making them leaner and automating service management activities. (Literature: A, Chapter
18.7)

Hix. DevOpse] BT A~ miliRsS, e ATFEEHNEF @RS,

Incorrect. DevOps can be used to create new products and services as well as improving
existing ones.

IR, DevOpsHUKZZEHARIGFAIRAR, BACHRTAR, k. 4. REMWK, TLARIHIR
BRIIRSS EIEL.

Incorrect. It does not matter DevOps was establish later because it can influence existing
service management practices by involving people, development, operations, quality and
testing.
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ERSZEMSER (SIAM™) fh, HBEESREHEZEERMA?

What is the layer between consumer and provider in Service Integration and Management
(SIAM™)?

A)
B)
9]

D)

A)
B)

9]

D)

RBES

Service advocate

IR LAEE (service installer)
Service installer

IRSSEERk

Service integrator

RS EEE

Service manager

Hix. ESIAM, RIEEESLHEAVeriSM™ AR FEX A,
Incorrect. There is no such role in SIAM, Best Management Practices and VeriSM™.

Hix. ESIAM, RIFEELHEAVeriSMMARFEXNHEE,

Incorrect. There is no such role in SIAM, Best Management Practices and VeriSM™.
IEffs, XESIAMFIFEEESREEZENE=E. (XA ET5:19.2)

Correct. This is the name of the third layer between consumer and provider in SIAM.
(Literature: A, Chapter 19.2)

Hiz. ESIAM, REEESCEAVeriSM™MHARFEXMHEE,
Incorrect. There is no such role in SIAM, Best Management Practices and VeriSM™.
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BaErhX S 7T ARRERTRE.

B—XREBET L REBHERERK"?

In Lean, different types of waste are distinguished.

What type of waste is “producing at levels of quality more than required by the customer"?

A)
B)
9]

D)

A)

B)
9]

D)

EF

Inventory
(LT
Overdelivering
JEINT
Overprocessing
&I
Overproduction

HiR. IWRREBRIEARBERII R mint.

Incorrect. This type of waste is described as excess products and materials that are not being
used.

IR, BmEr PR EILERE.

Incorrect. This type of waste does not exist in Lean.

IEf, [ERRPEXTFIEINTAMEAR, (CECAET:20.7)

Correct. This is the description of overprocessing. (Literature: A, Chapter 20.7)

HiR, IWRREBRIEHEYRIXRUN~HBETFTEX,

Incorrect. This type of waste is described as creating more output then is needed and before it
is needed.

Dig
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R (Shift Left) B—IGETA. RAFSHFHREIEEREERHMNER, NMREMER, 1549
BAFHREEFPXREEAITIE

VAN —I0EEA B T RS AIRHIE?

Shift Left is an approach which sees solution development, delivery and support pushed to
earlier stages in their lifecycle and so gains efficiencies, cost savings and improved
customer focus.

Which activity is not a feature of Shift Left?

A) THIARREREMELE

Auto-correction of operational issues after they have occurred
B) EOE4E AR ERIEHEN

Auto-detection of potential operational issues before they occur
C) SHBMERE_LSTF

Automatic incident referral to second line support
D) BEIIRSSSM2kHT

Self service incident diagnosis

A) R, XNBETEBRIWHE BERRANTIINEE, BRSO EENRSSRIE. F)
o, BEBEEMEEENARSEACERRNBE SR, TSR ERISSHEIREIEAISME,
Incorrect. This is a feature of Shift Left. Automatically resolving incidents reduces potential
service downtime by negating the need for human intervention. For example, the effects of a
power failure may be minimized by detection by event management and the automatic fail-
over of service to alternative processing resources.

B) &R, XBTABRIRDEN. SMEMHERES], RItER T SHFHMAFMIRSE. flin, SHEE
I RERIN R SRR B e R R INE MF 5=,

Incorrect. This is on the extreme left spectrum of Shift Left. Incidents are prevented and so
support costs and service downtime are avoided. For example, event management may detect
that a container is filling up and automatically triggers the addition of extra storage.

C) I, XAEAiEs), RNTRAAMEREN_&ERR. NI, BaEABiNXEEs, o
VIEHRANERAIXG., AREERT, SHEMERE_ASHHRURRREGEN, BXABETE
%, (XEAFET:21)

Correct. This is not a Shift Left activity because comparatively expensive second line resources
are involved. Automation, however, is a key component of Shift Left as it reduces the risk of
human error. Automated incident referral to second line support may well be, in certain

circumstances, the most appropriate process - but it is not Shift Left. (Literature: A, Chapter
21)

D) {&iR. BEIRSET ARSI, MER 0FSTUFAIIE . HEETLUEINIRE, FFHTXISR
MIFZEM T BREIRRRERRAVS R, MARRARIRERNITZRES, A, TSR EME 2
ERBBIRSSER), XEREBLE FELET,

Incorrect. Self-service is a Shift Left practice. It is “the backbone of level 0 support”. Consumers
can interrogate knowledge bases and use community forums and many other tools to find a
resolution to their difficulty without having to contact comparatively expensive IT support. It is
important, however, that IT support is aware of consumers’ self-service activities so that they
can moderate content.
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T —IETRFAE (UX) ?

w
A)
B)

9]

hat is an example of User Experience (UX)?

IR

Complaint handling
EFIRS

Customer service

SCHFARIS

Support experience

D) BFFm|

A)

B)

9]

User interface

Hix. XMNETEPAE (CX) , MARREPAR (UX) . RIFGIES RAELHSFIOmAME, Fib
TRBEESARZENXE.

Incorrect. This is an example of Customer Experience (CX) and not of User Experience (UX).
Complaint handling relates to the responsiveness of the organization to complaints and thus
relates to the relationship between the consumers and the organization.

Hix, XMNETFEPAE (CX) , MAREPEE (UX) . BSkEEESHENAZENXR.
Incorrect. This is an example of Customer Experience (CX) and not of User Experience (UX). It
relates to the relationship between the consumers and the organization.

Hix. XMNETEPARE (CX) , MARREPHR (UX) . ErkBEEESHEAZENXR.
Incorrect. This is an example of Customer Experience (CX) and not of User Experience (UX). It
relates to the relationship between the consumers and the organization.

D) [Ftfs. XMETRFHAE. RRAERRAFARIRAREZ— BEETRFKE. CHEAE

5:22.1)
Correct. This is example of User Experience. User interface is one of the technical components
of Customer experience and therefore is an example of UX. (Literature: A, Chapter 22.1)
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SRR N 3T B I AR

How does continuous delivery positively impact change control processes?

A) B
B)
9]

D)

A)

B)

9]

D)

AN BT HRAE.
It does not impact the change control processes.
BB BaMliE TERImmE.
It impacts the processes through automated testing facilities.
CEIIIRHEZEERE
It impacts the processes through delivering more information.
BRI AKECAIE E R RE,

It impacts the processes through less rigorous change control.

*Etié"éo BTSRRI REENCMIATEA LTSS, FER o LA R E i HimiEr R
i,

Incorrect. Continuous delivery may positively impact change control processes by automation
of the integration and testing process without human intervention or discussion.

IEffg, FFERMAEEERA LT/ ANR RSN EEEFIE. (A E15:23.7)
Correct. Continuous delivery may impact change control process through the elimination of
human intervention/human factor or discussion. (Literature: A, Chapter 23.7)

iR, IBINESERERERRIEER, XSWTEEHRE~ERRRN, BERASHERABER,
Incorrect. Adding more information means longer decision-making. This can negatively
impact change control processes and not eliminate human errors.

HiR, FABEENZEEHRESINEZSHANKRE, FrIsEXIBNE R,

Incorrect. A less rigorous change control process can impact more human failures and may
negatively impact the whole process.

VerlSM
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RATRHT G, LSIRSZETETR T EANK.

THIB—IUE T ARSS E R ERI Ik ak?

Technology is changing fast and this provides significant challenges for service
management.

What is a generic challenge identified for service management?

A) TIRRLASTREAEICE
Ensuring cost is matched to budget
B) EHAZR(ES IS5 R AAEILAC
Matching expectations to business relationships
C) SRELFH, AIHIMAR
More complexity and less visibility
D) BRSSEIETTIESHFRIRFIEELIR

Service management approaches support constraints

A) iR, BRAASTIERLEAAARRS EEPFEAIHZ—.
Incorrect. Ensuring cost is matched to budget is not one of the identified challenges for
service management.

B) $HIR, PHEETISHIESITENAS, MARSHLERERRFAETE.
Incorrect. The challenge is to match expectations to reality, not to the relationships within the
organization.

C) IEf. FrXEAMANAHRATESERSEHENARREEMSS R, X—HEIARRM. (CJECA,
E15:25.1)
Correct. A recognized challenge is that emerging technologies and access to new technology
can make the service provider's environment more complex. (Literature: A, Chapter 25.1)

D) {HiR. IRSEERDEZREFHAR, MARHRFZRILIR,
Incorrect. Service management approaches need to support the organization, not the
constraints.
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What is a key benefit of cloud?

A) RERIENNEE

Enhanced internal communication

B) EhiRiERERE

Increased quality of the infrastructure

C) EftiRiEiRSEEIR

Increased speed of infrastructure service

D) iIZEXBLEHE

Reduced operating risks

A) EiR. B=ETEMREASTINNERYEES. ERRAETRFREEN., REEEEGAIRY

RIRAS IR SIS EE I F K=

Incorrect. Using cloud for the infrastructure will not have an impact on your ability to
communicate internally. Using cloud may lead to benefits like reduced operating risks, quick
provisioning of hardware and software resources, and increasing the ability to pay as you go.

B) iR, BABEMREETRnIRREARE, BXAANEHMESE., MR NEREIIRERE

RiF, WUNBTKEERA R min2AEEmERH, ERCUETREEEENG., REEERE
IR IRA R R SIS e NS

Incorrect. Although putting infrastructure in the cloud may result in better quality, it is not a
given. If there is a good internal infrastructure setup to begin with, you cannot expect an
increase in quality merely by lifting it to the cloud. Using cloud may lead to benefits like
reduced operating risks, quick provisioning of hardware and software resources, and
increasing the ability to pay as you go.

O) iR, REFRATRESRIEEENMRERIEIRIERSS, (ERAEERIREPEIRIERNIEREIEIIER

TASHMXMER, NRFELZRRESHIEMIRIERSS, WMNBHEEMIREE T RineTs
ISREX—ERERINHA. ERTAREERERIZENG. RERERHFRGRIRLN RS
(NEEVAE N Gl

Incorrect. Although you may experience higher speed of infrastructure service, this will only
happen if your internal infrastructure was slow to begin with. If you have fast and efficient
infrastructure service already, you cannot expect an improvement on this factor, merely by
putting your infrastructure in the cloud. Using cloud may lead to benefits like reduced
operating risks, quick provisioning of hardware and software resources, and increasing your
ability to pay as you go.

D) IFffs. ETREMIRIEIRSSEE. FHESEMNAREFNSRUEHRERRENE, XFARHMAIUEE

FENMARDDTITRAES. (XEHAET:25.2)

Correct. The complexities of managing infrastructure servers, storage and applications are
handled by the cloud provider allowing organizations to focus on core activities instead of IT
technical tasks. (Literature: A, Chapter 25.2)
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—MALIRERFASaaSHRRTT S=I=HIEIMIERM (1oT) iR,

MNRSEENBREXRE, UTH—NREE, FEERER?

An organization decides to use a SaaS solution to control their new Internet of Things (loT)
monitoring devices.

What is most important to consider from a service management point of view?

A) YIEXRISEIRBIRSFNIPHIE B EHE—E, XE—NKEEK

That a key requirement for loT devices is to have unique identifiers and IP addresses
B) YIEXMIBRSS IR E AT AIRERASI S SORTE

That loT services provide better behavior tracking to support real-time marketing
) XE—IUMEIRS, BEUAFTEEIIER

That it is an outsourced service so no specific considerations are required
D) SaaS#RRTIEWANSERSZMESIE (guardrails)

That the guardrails for the services must be respected also for SaaS solutions

A) iR, XE—IEMHIRAER, BMNRSEEBEREAFEER.
Incorrect. This is a valid technical requirement, but not important form a service management
view.

B) &R, XEYEAMIRSHHRAFL, ENRSERBEREAIEE.
Incorrect. This is a benefit that loT services provide, but not important from a service
management view.

0 iR, RSEERNERTHHEIRS.
Incorrect. The service management principles apply for all services.

D) I, MEFERMBIRS (FMEEE/M) NEEN. (SECAFET5:1.4%025.6)
Correct. The guardrails are overall principles for all services, outsourced or not. (Literature: A,

Chapter 1.4 and 25.6)
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MERATEEINME (RPA, BIREEENEA/ EISEE) ERSEEBIEFEEHANR?

What is the advantage of Robotic Process Automation (RPA) in service management
processes?

A)
B)
9]

D)

A)

B)

9]

D)

RPARTLASEEESS Bantt, BILATLAGERA R,

RPA automates tasks and therefore will always reduce headcount.
RPAFSEN R THUTEEZANES.

RPA helps in enabling employees to perform more complex tasks.
RPATTLASEEESS Bantt, MMEESEF T miIEE.

RPA increases the quality of the produced products as it automates tasks.

RPAR—MEF AR, TEENATRSEE.

RPA is a manufacturing technique which cannot be used effectively in service management.

iR, RPAFHARZRRGEHMAR,

Incorrect. RPA is not always about reducing headcount.

Ef, SANRREMHPENEENEENTE—MBERHNSR, B, EEALEIHTERER
EENESMMES. (A ET25.8)

Correct. Redeployment of staffing resources to more valuable activities is a clear benefit, and
it has also automated more complex tasks involving advanced logic. (Literature: A, Chapter
25.8)

iR, IRSEEDHIRPARKE @, MeEXTIREESBIM.

Incorrect RPA in service management is not about product, but process task automation.
fHIR. RPABZIHT (IRSERE) miEEsS.

Incorrect. RPA is about automating (service management) process tasks.

VerlSM
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—MARFEF TR K TEE FEm EER .,

ROZE SR EVeriSM™ERI AT TER?
An organization wants to break out of fire-fighting mode and move to the proactive mode.
On which element(s) of the VeriSM™ model should the focus be first?

A) EM (Define) #14r= (Produce)
Define and Produce

B) R
Governance

C) SIEMIE (Management Mesh)
Management Mesh

D) #2ft (Provide) #M@i (Respond)
Provide and Respond

A) IFf, BUHTIENSIMEHRMEIFIIRS SERNELR. XTENNEF-E, MAREETaZ
fb,  (3ERAFET5:26.1)
Correct. Improving things from the start and producing better services is the way to go. The
focus is on the Define and Produce activities, rather than repairing what went wrong.
(Literature: A, Chapter 26.1)

B) &R, BEAX—TTHEMIEE, BHFEELKERN.
Incorrect. Although these elements are important, they are not the first to focus on.

C) EiR. BAXZEEAVeriSM™MEEINMETTER, BREHBERRFTHR K TIFED",
Incorrect. This is a necessary element for moving towards the VeriSM™ model, but does not
help breaking out of the fire-fighting mode in the short term.

D) iR, TETRMHARNESTE, IHELRTF MK TR KEENIEFED, MAZEETE
24k,
Incorrect. Focusing on what went wrong and trying to repair that, keeps the organization in
fire-fight mode. The focus is on the Define and Produce activities, rather than repairing what
went wrong.
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WTREAFEFRNIERSR, HEEERA.

[ = f 3 [ =f 3
1 C 21 A
2 A 22 B
3 B 23 C
4 D 24 A
5 D 25 B
6 C 26 D
7 C 27 D
8 C 28 C
9 D 29 B
10 A 30 B
11 D 31 C
12 C 32 C
13 A 33 C
14 B 34 D
15 D 35 B
16 D 36 C
17 D 37 D
18 D 38 D
19 C 39 B
20 C 40 A
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